# $K_{1,pq}$ -factorization of complete bipartite graphs

Beiliang Du

Department of Mathematics Suzhou University Suzhou 215006, P.R. China

#### Abstract

Let  $K_{m,n}$  be a complete bipartite graph with two partite sets having m and n vertices, respectively. A  $K_{1,k}$ -factorization of  $K_{m,n}$  is a set of edge-disjoint  $K_{1,k}$ -factors of  $K_{m,n}$  which partition the set of edges of  $K_{m,n}$ . When k is a prime number p, Wang [Discrete Math. 126 (1994)] investigated the  $K_{1,p}$ -factorization of  $K_{m,n}$  and gave a sufficient condition for such a factorization to exist. Du [Discrete Math. 187 (1998) and Appl. Math. J. Chinese Univ. 17B (2001)] extended Wang's result to the case k is a prime power  $p^u$ . In this paper, it is shown that the conclusion in Wang's 1994 paper is true for any prime product pq. We will give a sufficient condition for the existence of the  $K_{1,pq}$ -factorization of  $K_{m,n}$ , whenever p and q are prime numbers, that is (1)  $m \leq pqn$ , (2)  $n \leq pqm$ , (3)  $pqm - n \equiv pqn - m \equiv 0 \pmod{(p^2q^2 - 1)}$  and (4)  $(pqm - n)(pqn - m) \equiv 0 \pmod{(pqq - 1)(p^2q^2 - 1)(m + n)}$ .

### 1 Introduction

Let  $K_{m,n}$  be a complete bipartite graph with two partite sets having m and n vertices. A subgraph F of  $K_{m,n}$  is called a spanning subgraph of  $K_{m,n}$  if F contains all the vertices of  $K_{m,n}$ . It is clear that a graph with no isolated vertices is uniquely determined by the set of its edges. So in this paper, we consider a graph with no isolated vertices to be a set of 2-element sets of its vertices. Let k be a positive integer. A  $K_{1,k}$ -factor of  $K_{m,n}$  is a spanning subgraph F of  $K_{m,n}$  such that every component of F is a  $K_{1,k}$ . A  $K_{1,k}$ -factorization of  $K_{m,n}$  is a set of edges of  $K_{m,n}$ . In paper [7] the  $K_{1,k}$ -factorization of  $K_{m,n}$  is defined as a resolvable (m, n, k, 1) bipartite  $S_{k+1}$  design. The graph  $K_{m,n}$  is called  $K_{1,k}$ -factorizable whenever it has a  $K_{1,k}$ -factorization. For graph theoretical terms see [1].

The  $K_{1,k}$ -factorization of  $K_{m,n}$  can be applied to combinatorial multiple-valued index-file organization schemes of order two in database systems (see [7]). So the

Australasian Journal of Combinatorics 26(2002), pp.85-92

 $K_{1,k}$ -factorization of  $K_{m,n}$  has been studied by several researchers. Using simple computation, we can establish the following trivial necessary condition for the existence of a  $K_{1,k}$ -factorization of  $K_{m,n}$ .

**Theorem 1.1** If  $K_{m,n}$  has a  $K_{1,k}$ -factorization, then

(1)  $m \leq kn$ ,

(2)  $n \leq km$ ,

(3)  $km - n \equiv kn - m \equiv 0 \pmod{(k^2 - 1)}$  and

(4)  $(km - n)(kn - m) \equiv 0 \pmod{k(k^2 - 1)(m + n)}$ .

There are some known results on the existence of the  $K_{1,k}$ -factorization of  $K_{m,n}$ . When k = 2, the spectrum problem for  $K_{1,2}$ -factorization of  $K_{m,n}$  has been completely solved by Ushio [4]. When k is a prime number p, the spectrum problem for  $K_{1,p}$ -factorization of  $K_{m,n}$  has been partially solved (see [6] and [8]). Wang [8] investigated the  $K_{1,p}$ -factorization of  $K_{m,n}$  and gave a sufficient condition for such a factorization to exist.

**Theorem 1.2** [8] For any prime number p, if

(1)  $m \le pn$ , (2)  $n \le pm$ , (3)  $pm - n \equiv pn - m \equiv 0 \pmod{(p^2 - 1)}$  and (4)  $(pm - n)(pn - m) \equiv 0 \pmod{p(p - 1)(p^2 - 1)(m + n)}$ , then  $K_{m,n}$  is  $K_{1,p}$ -factorizable.

In papers [2] and [3], Du extended Wang's result to the case when k is a prime power  $p^u$ . Du [3] investigated the  $K_{1,p^u}$ -factorization of  $K_{m,n}$  and gave a sufficient condition for such a factorization to exist.

**Theorem 1.3** [3] Suppose k is a prime power  $p^u$ . If

(1)  $m \le kn$ , (2)  $n \le km$ , (3)  $km - n \equiv kn - m \equiv 0 \pmod{(k^2 - 1)}$  and (4)  $(km - n)(kn - m) \equiv 0 \pmod{k(k - 1)(k^2 - 1)(m + n)}$ , then  $K_{m,n}$  is  $K_{1,k}$ -factorizable.

In this paper, it is shown that the conclusion in [8] is true for any prime product pq. We will give a sufficient condition for the existence of the  $K_{1,pq}$ -factorization of  $K_{m,n}$ , whenever p and q are prime numbers; see the next theorem.

**Theorem 1.4** For any prime numbers p and q, if

(1)  $m \le pqn$ , (2)  $n \le pqm$ , (3)  $pqm - n \equiv pqn - m \equiv 0 \pmod{(p^2q^2 - 1)}$  and (4)  $(pqm - n)(pqn - m) \equiv 0 \pmod{pq(pq - 1)(p^2q^2 - 1)(m + n)}$ , then  $K_{m,n}$  is  $K_{1,pq}$ -factorizable.

## 2 Proof of Theorem 1.4

In this section we shall give the proof of Theorem 1.4. For our main result, we need the following lemmas. The first two lemmas and the corollary are easy observations and they are used in [8] also. For any two integers x and y, we use gcd(x, y) to denote the greatest common divisor of x and y.

**Lemma 2.1** Let u, v and w be positive integers. If gcd(u, v) = 1 then gcd(uv, u + vw) = gcd(u, w).

**Lemma 2.2** If  $K_{m,n}$  has a  $K_{1,k}$ -factorization, then  $K_{sm,sn}$  has a  $K_{1,k}$ -factorization for any positive integer s.

A corollary of Lemma 2.2 is as follows.

**Corollary 2.3**  $K_{s,sk}$  is  $K_{1,k}$ -factorizable for any positive integer s.

Corollary 2.3 implies that we only need to treat the case m < pqn and n < pqm. Let

$$a = \frac{pqn - m}{p^2q^2 - 1}, \quad b = \frac{pqm - n}{p^2q^2 - 1}, \quad r = \frac{(pq + 1)mn}{pq(m + n)}, \quad c = \frac{(pqn - m)(pqm - n)}{pq(pq + 1)(m + n)}.$$

Then, from conditions (1)–(4) in Theorem 1.4, a, b, and c are positive integers. It is easy to see that m = a + pqb, n = pqa + b and r = a + b + c hold, and then r is also a positive integer. Let  $d = \gcd(a, pqb)$ , a = du and pqb = dv for some positive integers u and v with  $\gcd(u, v) = 1$ . Since  $c \equiv 0 \pmod{(pq-1)^2}$ , let  $e = \frac{c}{(pq-1)^2}$ . These equalities imply the following equalities:

$$d = \frac{pq(pqu+v)e}{uv}, \quad r = \frac{(u+v)(p^2q^2u+v)e}{uv}, \quad m = \frac{pq(pqu+v)(u+v)e}{uv}$$
$$n = \frac{(pqu+v)(p^2q^2u+v)e}{uv}, \quad a = \frac{pqu(pqu+v)e}{uv}, \quad b = \frac{v(pqu+v)e}{uv}.$$

Now we can establish the following lemma.

**Lemma 2.4** (1) If  $gcd(v, p^2q^2) = 1$ , then

$$m = pq(pqu + v)(u + v)s, \ n = (pqu + v)(p^2q^2u + v)s,$$
  
$$a = pqu(pqu + v)s, \ b = v(pqu + v)s, \ r = (u + v)(p^2q^2u + v)s,$$

for some positive integer s.

(2) If  $gcd(v, p^2q^2) = p$ , let  $v = pv_1$ . Then  $m = pq(qu + v_1)(u + pv_1)s$ ,  $n = p(qu + v_1)(pq^2u + v_1)s$ ,

$$a = pqu(qu + v_1)s, \ b = pv_1(qu + v_1)s, \ r = (u + pv_1)(pq^2u + v_1)s,$$

for some positive integer s.

(3) If  $gcd(v, p^2q^2) = p^2$ , let  $v = p^2v_2$ . Then

$$m = q(qu + pv_2)(u + p^2v_2)s, \ n = p(qu + pv_2)(q^2u + v_2)s,$$
$$a = qu(qu + pv_2)s, \ b = pv_2(qu + pv_2)s, \ r = (u + p^2v_2)(q^2u + v_2)s,$$

for some positive integer s.

(4) If  $gcd(v, p^2q^2) = pq$ , let  $v = pqv_3$ . Then

$$m = pq(u + v_3)(u + pqv_3)s, \ n = pq(u + v_3)(pqu + v_3)s,$$
$$a = pqu(u + v_3)s, \ b = pqv_3(u + v_3)s, \ r = (u + pqv_3)(pqu + v_3)s$$

for some positive integer s.

(5)  $If \gcd(v, p^2 q^2) = p^2 q, \ let \ v = p^2 q v_4.$  Then

$$m = q(u + pv_4)(u + p^2qv_4)s, \ n = pq(u + pv_4)(qu + v_4)s,$$

$$a = qu(u + pv_4)s, \ b = pqv_4(u + pv_4)s, \ r = (u + p^2qv_4)(qu + v_4)s,$$

for some positive integer s.

(6) If 
$$gcd(v, p^2q^2) = p^2q^2$$
, let  $v = p^2q^2v_5$ . Then  
 $m = (u + pqv_5)(u + p^2q^2v_5)s$ ,  $n = pq(u + pqv_5)(u + v_5)s$ ,  
 $a = u(u + pqv_5)s$ ,  $b = pqv_5(u + pqv_5)s$ ,  $r = (u + p^2q^2v_5)(u + v_5)s$ ,

for some positive integer s.

**Proof** Recall that p and q are prime numbers and gcd(u, v) = 1.

(1) By Lemma 2.1, we see that gcd(uv, u + v) = 1 and  $gcd(uv, p^2q^2u + v) = gcd(v, p^2q^2) = 1$ . Since

$$r = \frac{(u+v)(p^2q^2u+v)e}{uv}$$

is an integer, we see that  $\frac{e}{uv}$  must be an integer. Let  $s = \frac{e}{uv}$ . Then the equalities in (1) hold.

(2) By Lemma 2.1, we see that  $gcd(uv_1, u + pv_1) = gcd(u, p) = 1$  and  $gcd(uv_1, pq^2u + v_1) = gcd(v_1, pq^2) = 1$ . Since

$$r = \frac{(u + pv_1)(pq^2u + v_1)e}{uv_1}$$

is an integer, we see that  $\frac{e}{uv_1}$  must be an integer. Let  $s = \frac{e}{uv_1}$ . Then the equalities in (2) hold.

(3) By Lemma 2.1, we see that  $gcd(uv_2, u + p^2v_2) = gcd(u, p^2) = 1$  and  $gcd(uv_2, q^2u + v_2) = gcd(v_2, q^2) = 1$ . Since

$$r = \frac{(u+p^2v_2)(q^2u+v_2)e}{uv_2}$$

is an integer, we see that  $\frac{e}{uv_2}$  must be an integer. Let  $s = \frac{e}{uv_2}$ . Then the equalities in (3) hold.

(4) By Lemma 2.1, we see that  $gcd(uv_3, u + pv_3) = gcd(u, p) = 1$  and  $gcd(uv_3, pqu + v_3) = gcd(v_3, pq) = 1$ . Since

$$r = \frac{(u+pv_3)(pqu+v_3)e}{uv_3}$$

is an integer, we see that  $\frac{e}{uv_3}$  must be an integer. Let  $s = \frac{e}{uv_3}$ . Then the equalities in (4) hold.

(5) By Lemma 2.1, we see that  $gcd(uv_4, u + p^2qv_4) = gcd(u, p^2q) = 1$  and  $gcd(uv_4, qu + v_4) = gcd(v_4, q) = 1$ . Since

$$r = \frac{(u+p^2qv_4)(qu+v_4)\epsilon}{uv_4}$$

is an integer, we see that  $\frac{e}{uv_4}$  must be an integer. Let  $s = \frac{e}{uv_4}$ . Then the equalities in (5) hold.

(6) By Lemma 2.1, we see that  $gcd(uv_5, u + p^2q^2v_5) = gcd(u, p^2q^2) = 1$  and  $gcd(uv_5, u + v_5) = 1$ . Since

$$r = \frac{(u+p^2q^2v_5)(u+v_5)e}{uv_5}$$

is an integer, we see that  $\frac{e}{uv_5}$  must be an integer. Let  $s = \frac{e}{uv_5}$  Then the equalities in (6) hold.

This proves the lemma.

We are now in a position to prove Theorem 1.4. For our main result, we only need the following direct constructions.

First of all, using the constructions which were devised by Wang (Lemma 3.5 and Lemma 3.6 in [8]), we have the following lemmas.

**Lemma 2.5** For any positive integers u and v, let

$$m = pq(pqu+v)(u+v),$$
  

$$n = (pqu+v)(p^2q^2u+v).$$

Then  $K_{m,n}$  has a  $K_{1,pq}$ -factorization.

Lemma 2.6 For any positive integers u and v, let

$$m = pq(u+v)(u+pqv),$$
  

$$n = pq(u+v)(pqu+v).$$

Then  $K_{m,n}$  has a  $K_{1,pq}$ -factorization.

We then only need the following lemmas.

**Lemma 2.7** For any positive integers u and v, let

$$m = pq(qu+v)(u+pv),$$
  

$$n = p(qu+v)(pq^{2}u+v).$$

Then  $K_{m,n}$  has a  $K_{1,pq}$ -factorization.

**Proof** Let a = pqu(qu + v), b = pv(qu + v),  $r = (u + pv)(pq^2u + v)$ ,  $r_1 = u + pv$ and  $r_2 = pq^2u + v$ . Let X and Y be the two particle sets of  $K_{m,n}$  and set

$$X = \{x_{i,j} \mid 1 \le i \le r_1; \ 1 \le j \le pq(qu+v)\},\$$
  
$$Y = \{y_{i,j} \mid 1 \le i \le r_2; \ 1 \le j \le p(qu+v)\}.$$

We will construct a  $K_{1,pq}$ -factorization of  $K_{m,n}$ . We remark in advance that the additions in the first subscripts of  $x_{i,j}$ 's and  $y_{i,j}$ 's are taken modulo  $r_1$  and  $r_2$  in  $\{1, 2, \ldots, r_1\}$  and  $\{1, 2, \ldots, r_2\}$ , respectively, and the additions in the second subscripts of  $x_{i,j}$ 's and  $y_{i,j}$ 's are taken modulo pq(qu + v) and p(qu + v) in  $\{1, 2, \ldots, pq(qu + v)\}$  and  $\{1, 2, \ldots, p(qu + v)\}$ , respectively.

For each *i* and *h*,  $1 \le i \le u$ ,  $1 \le h \le pq$ . Let  $s(i, h) = pq^2(i-1) + q(h-1) + 1$ , and t(i, h) = pq(i-1) + h - 1, and set

$$E_i = \{ x_{i,kp(qu+v)+j} y_{s(i,h)+k,t(i,h)+j} \mid 1 \le j \le p(qu+v); \ 1 \le h \le pq; \ 0 \le k \le q-1 \}.$$

For each i and h,  $1 \le i \le v$ ,  $1 \le h \le p$ . Let  $\varphi(i,h) = u + p(i-1) + h$  and  $\psi(i,h) = pqu + p(i-1) + h - 1$ , and set

$$E_{u+i} = \{ x_{\varphi(i,h),j} y_{pq^2u+i,\psi(i,h)+j} \mid 1 \le j \le pq(qu+v); \ 1 \le h \le p \}$$

Let  $F = \bigcup_{1 \le i \le u+v} E_i$ ; then it is easy to see that the graph F is a  $K_{1,pq}$ -factor of  $K_{m,n}$ . Define a bijection  $\sigma$  from  $X \cup Y$  onto  $X \cup Y$  in such a way that  $\sigma(x_{i,j}) = x_{i+1,j}$  and  $\sigma(y_{i,j}) = y_{i+1,j}$ . For each  $i \in \{1, 2, \ldots, r_1\}$  and each  $j \in \{1, 2, \ldots, r_2\}$ , let

$$F_{i,j} = \{ \sigma^i(x) \sigma^j(y) \mid x \in X, \ y \in Y, \ xy \in F \}.$$

It is easy to show that the graphs  $F_{i,j}$   $(1 \leq i \leq r_1, 1 \leq j \leq r_2)$  are  $K_{1,pq}$ -factors of  $K_{m,n}$  and their union is  $K_{m,n}$ . Thus  $\{F_{i,j} \mid 1 \leq i \leq r_1, 1 \leq j \leq r_2\}$  is a  $K_{1,pq}$ -factorization of  $K_{m,n}$ .

This proves the lemma.

**Lemma 2.8** For any positive integers u and v, let

$$m = q(qu + pv)(u + p^2v),$$
  

$$n = p(qu + pv)(q^2u + v).$$

Then  $K_{m,n}$  has a  $K_{1,pq}$ -factorization.

**Proof** Let a = qu(qu + pv), b = pv(qu + pv),  $r = (u + p^2v)(q^2u + v)$ ,  $r_1 = u + p^2v$ , and  $r_2 = q^2u + v$ . Let X and Y be the two partite sets of  $K_{m,n}$  and set

$$X = \{x_{i,j} \mid 1 \le i \le r_1; \ 1 \le j \le q(qu + pv)\},\$$
  
$$Y = \{y_{i,j} \mid 1 \le i \le r_2; \ 1 \le j \le p(qu + pv)\}.$$

For each *i* and *h*,  $1 \le i \le u$ ,  $1 \le h \le q$ . Let  $s(i, h) = q^2(i-1) + q(h-1) + 1$ and t(i, h) = q(i-1) + h - 1, and set

$$E_{i} = \{x_{i,k(qu+pv)+j}y_{s(i,h)+k,g(qu+pv)+t(i,h)+j} \mid 1 \le j \le qu+pv; \\ 1 \le h \le q; \ 0 \le k \le q-1; \ 0 \le g \le p-1\}.$$

For each *i* and *h*,  $1 \le i \le v$ ,  $1 \le h \le p$ . Let  $\varphi(i, h) = u + p^2(i-1) + p(h-1) + 1$ and  $\psi(i, h) = qu + p(i-1) + h - 1$ , and set

$$E_{u+i} = \{ x_{\varphi(i,h)+k,j} y_{q^2u+i,k(qu+pv)+\psi(i,h)+j} \mid 1 \le j \le q(qu+pv); \\ 1 \le h \le p; \ 0 \le k \le p-1 \}$$

Let  $F = \bigcup_{1 \le i \le u+v} E_i$ ; then it is easy to see that the graph F is a  $K_{1,pq}$ -factor of  $K_{m,n}$ . Define a bijection  $\sigma$  from  $X \cup Y$  onto  $X \cup Y$  in such a way that  $\sigma(x_{i,j}) = x_{i+1,j}$  and  $\sigma(y_{i,j}) = y_{i+1,j}$ . For each  $i \in \{1, 2, \dots, r_1\}$  and each  $j \in \{1, 2, \dots, r_2\}$ , let

$$F_{i,j} = \{ \sigma^i(x) \sigma^j(y) \mid x \in X, \ y \in Y, \ xy \in F \}.$$

It is easy to show that the graphs  $F_{i,j}$   $(1 \leq i \leq r_1, 1 \leq j \leq r_2)$  are  $K_{1,pq}$ -factors of  $K_{m,n}$  and their union is  $K_{m,n}$ . Thus  $\{F_{i,j} \mid 1 \leq i \leq r_1, 1 \leq j \leq r_2\}$  is a  $K_{1,pq}$ -factorization of  $K_{m,n}$ .

This proves the lemma.

Applying Lemma 2.4 with Lemmas 2.5 to 2.8, we see that for the parameters m and n satisfying conditions (1)–(4) in Theorem 1.4,  $K_{m,n}$  has a  $K_{1,pq}$ -factorization. This completes the proof of Theorem 1.4.

# References

- J.A. Bondy and U.S.R. Murty, *Graph Theory with Applicatons*, American Elsevier Pub. Co., Inc., New York, 1976.
- [2] B. Du, K<sub>1,p<sup>2</sup></sub>-factorization of complete bipartite graphs, Discrete Math. 187 (1998), 273–279.
- [3] B. Du, K<sub>1,p<sup>k</sup></sub>-factorization of complete bipartite graphs, Appl. Math. J. Chinese Univ. 17B (2001), 107–110.
- [4] K. Ushio, P<sub>3</sub>-factorization of complete bipartite graphs, Discrete Math. 72 (1988), 361–366.
- [5] K. Ushio, S<sub>5</sub>-factorization of complete bipartite graphs, Combinatorial Structure in Mathematical Models, RIMS Kokyuroku 853 (Kyoto University, 1993), 196– 202.
- [6] K. Ushio and R. Tsuruno, Cyclic  $S_k$ -factorization of complete bipartite graphs, Graph Theory, combinatorics, algorithms and applications (SIAM, 1991), 557– 563.
- [7] K. Ushio, G-designs and related designs, Discrete Math. 116 (1993), 299-311.
- [8] H. Wang, On  $K_{1,k}$ -factorizations of a complete bipartite graph, Discrete Math. **126** (1994), 359–364.

(Received 14/5/2001)